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1(8307| 9670 | 7| 6| 4] 9] 9| 9| 5] 9 27| -
2| 8307| 9226 | 0| of o o] of o] 0] O 0f -
3/8307( 9695 | Of O 7] Of 6| O] 7| 8 13| -/ RM1, RM2
418307| 9701 | 3| 7| 5] O 6] 9| 7| 8 18| - / RM1, RM2, Practica dom
58307 9727 | 6 7| 6] 8| 6| 7| 5| 9| 6,7] 30|Mec2, Termothl /RM1, Termoth2
68307 9769 | 3| 6| 5| 7| 6| 7] 0O[10 20| - / Mecanisme, Termoth2, RM2
718307 10035 6| 7| 6]10( 8| 9] 5| 9| 7,43] 30|SIM, DTI1, GD, Termoth1 /-
8| 8307| 9784 | 3| 7| 6| 9| 8(10| 6] 9 23|Mec1 / RM1, RM2
9/8307( 9804 | Of 7| 4] 9| 6| 8] 5| 8 20|SIM, Mec2 / RM1, Mecanisme, RM2, OM1, VM
1018307 9814 | O] 6| 4| 5| 6| 9] 5| 9 20[(Mec2 / RM1, TCD, RM2, VM
1118307 | 9824 | 3| 7| 5] O 6] 7| 5| 8 18|SIM / RM1, Mecanisme, RM2
1218307 9837 | O] 6| 5] 5| 5| 7| 7| 9 23|(Mec2 / RM1, TCD, RM2, Practica dom
13(8307| 9839 | 6| 9| 4| 8] 7| 7] 7| 8 27(SIM-5 / RM1, VM
1418307 9869 | 5| 6| 5] 7| 6| 7] 5| 8 6| 30|Mecl, Mec2 / RM1, Mecanisme, RM2
15(8307| 9872 | O 5| 4] 9| 7| 8] 5| 9 20|Mec2 / RM1, Mecanisme, RM2
1618307 9909 | O| 6| 4| 7| 6| 8] 5| 8 20(SIM, Mec2 / RM1, RM2
17| 8307 9925 | 3| 6] 6] 6] 5] 7] 5] 9 23|SIM-5, Mec1, Mec2 / RM1, RM2, VM
1818307 9926 | O| 6| 4| 6] 6] 7] 5| 9 20(SIM, Mec1, Ed fiz1 / Mecanisme
1918307 9931 | O 7| 5] 7| 5]/ 6] 5| O 20|Mec1 / RM1, Mecanisme, Termoth2, TCD, RM2
20| 8307 9976 | 5| 6| 5| 0| 6| 7] 6| 8 25(SIM, Termoth1, Ed fiz1 / RM1, TCD, OM1, VM
21| 8307 9981 0l 6] 9| 9| 6 9| 5] 9 23|Mec2 / RM2, VM
22|8307| 9987 | O| 6| 4| 6| 6(10] O 8 17|Mec2 / RM1, Termoth2, TCD, OM1
23( 8307 9998 | 5| 5| 4| 6] 6] 7| 3| 8 24(SIM, Mec1, Mec2 / RM1, TCD, RM2, VM




